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5. The SB Transport Company operates two divisions: a Truck Rental Division that rents to individuals, and a

Transportation Division that transports goods from one city to another. Results reported for the past year are as

follows:

Truck Rental Division

Transportation Division

Total assets $ 950,000 $650,000
Current liabilities 200,000 120,000
Operating income 200,000

80,000

Required:

(1) Calculate the Residual Income for the Transportation Division using operating income and investment equal to total
assets minus current liabilities. The required rate of return on investment is 15%. (5 43+)

(2) The company has two sources of funds:

Long-term debt |market value $1,000,000 Interest rate: 10%
book value 1,000,000

Equity capital |market value $3,500,000 Opportunity cost:
book Value 1,000,000 14%

SB’s income tax rate is 50%. Assume that each division faces similar risks.

A. Calculate the weighted-average cost of capital (WACC).

(543

B. Calculate the Economic Value Added (EVA) for the two Divisions. (10 43)

6. Jhon Stone, Inc., budgets the following amounts for its Buildings & Grounds and Computer Services Departments in

servicing each other and the two manufacturing divisions of Signs and Mailers:

Used By
Supplied By Building & Grounds _ Computer Services __Signs _Mailers
Buildings & Grounds — 0.20 0.60 0.20
Computer Services 0.15 — 0.30 0.55
The actual results for the time period were as follows:
| Used By
Supplied By Building & Grounds  Computer Services  Signs _ Mailers
Buildings & Grounds — 0.10 0.60 0.30
Computer Services 0.25 — 035 0.40
Actual cost data for each department are:
| Fixed Variable
Buildings & Grounds  $ 60,000 $90,000
Computer Services $100,000 $21,000

Required:

.~ What are the allocations of total fixed costs of Buildings & Grounds department to the Mailers Department using the
direct allocation method. (10 43)
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